=
£

~

(no stir)

—

min’!

k, (min™)

—~

~

0.040 T

0.035 - % 4
0.030 - i 4
0.025 - @ 4
0.020 - 4
0.015 - 4
0.010 - 4

0.005 - 4

8 10 12 14
[WTC] (uM)
LWTC with stirring

0.100 - Bl

0.000
0

N
IS
(2]

0.080 - * 4

0.060 - 4

0.040 - Bl

0.020 - 4

0.000 I I I I I I
0 2 4 6 8 10 12 14

[WTC] (uM)
WTC without stirring

0.08 T T

0.07 -

0.06 -

0.04 + /

0.03 - / 4
y = m1*m0/(m2+ M0)
Value
m1 | 0.080103| 0.0026493
m2 2.0966| 025684
Chisq | 0.00026625 NA| A
r?| 0.96861 NA
n n

5 10 1‘5 20 25 30
[QCYC] (uM)

Eror | |

0.01

0.00

0.02 Jg
'
.
0

35

0.010
0.008 |- . i
0.006 |- % i
0.004 |- i

0.002 | % i

|

2 4 6 8 10 12
[QCYC] (uM)

0.000
0

k, (min™")

k, (min”™) (no stir)

k, (min™")

k, (min™")

1.00

0.80

0.60

0.40

0.20

0.00
0

0.70

0.60

0.50

0.40

0.30

0.20

0.10

0.00

0.30

L

6 8 10
[WTC] (uM)

12

~

6 8 10
[WTC] (uM)

12

; y = m1*m0/(m2+M0)
L Value | Error
{' mi1 | 0.24469 0.010343
0.05 m2 0.93055| 0.18112 |
Chisq | 0.0069069 NA
r| 088176 NA
0.00 I T T T T
0 10 15 20 25 30 35
[QCYC] (uM)
0.16 % g
¥ L]
0.12 - i ! g
0.08 - 4
0.04 | 1
0.00 I I I I
0 4 6 8 10 12
[QCYC] (uM)

logk, k,A (no stir) logk, k,A

logk, k,A

logk, k,A

0.0
.05 L
37°C
1.0+ y=m1+m2*- MO
Value Error
m1 | -24836] 0.1281
m2 | 2.2213] 0.15023
Chisq| 0.009231 NA
R| 0.99546 NA
15 L L L L
04 05 06 07 08 09 10 1.1
log[WTC]
-0.2
.04 L i
-0.6 - g
-0.8 |
37°C
4.0 L i
120 i
y=m1+m2° MO
1.4 Value Error | |
m1 | -2.7135] 0.19055
m2 2.316] 0.22347
-1.6 Chisq| 0.020424 NAJl 7
R| 0.99082 NA
18 . . . .
04 05 06 07 08 09 10 1.1
log[WTC]
1.0
0.0 - 4
-1.0 - 4
37°C
-2.0 - 4
y=m1+m2* Mo
Value Error
m1 | -2.0138]0.075918 AAGD-N=4'20 kca|/m0|
3.0 m2 | 1.8633] 0.079179 | |
B Chisq | 0.89634 NA
R| 098413 NA
-4.0 . . . . .
-1.0 -05 0.0 0.5 1.0 1.5 2.0
log[QCYC]
-1.0
-1.5 ¢
20 L
33.6 °C
y=mi+m2° MO
25 Value Error | |
m1 | -3.1957| 019136
m2 | 1.9756] 027746
Chisq| 0.14889 NA
R| 0.95406 NA

-3.0 I I I ! ! ! !
03 04 05 06 07 08 09 1.0 1.1
log[QCYC]



k, (min™)

k, (min™)

k, (min™)

k (min‘1)

0.10 —
0.08 j
L]
0.06 o M 1
0.04 i
0.02 i
0.00 I I I I I I
3 4 5 6 7 8 9 10 11
[C124D] (uM)
0.20
L[]
0.15 i
* .
0.10 i
0.05 i
0.00 . . . . . .
5 6 7 8 9 10 1
[C124S] (uM)
0.07
0.06
0.05
0.04
0.03
y = m1*m0/(m2+m0)
0.02 Value Error |7
m1 0.070559| 0.0023709
m2 1.5903 0.1859
0.01 Chisq| 2.2323e-5 NA |
/ RrR? 0.97306 NA
000 L L L L
0 4 6 8 10 12
[T1258] (M)
0.10 :
L]
0.08
0.06
0.04 i
y = m1*m0/(m2-+mo0)
| Value Error
m1 0.09211| 0.0066733
002 i m2 0.6756 0.28596 1
Chisq 0. NA
r2| 060271 NA
000 L L L L
0 4 6 8 10 12

[T125A] (M)

k, (min™)

k, (min™)

k, (min™)

k, (min™)

0.60

0.50 -

0.40 -

0.30 -

0.20 -

0.10 -

0.00

0.60

0.50

0.40

0.30

0.20

0.10

0.00

0.60

4 6 8
[C124D] (uM)

2 4 6 8

[C124S] (uM)

0.50

0.40

0.30

0.20

0.10

0.00
0

0.60

0.50

0.40

0.30

0.20

0.10

0.00
0

L1 & S2 (121-127, SVTCTYS)

4 6 8
[T1258] (uM)

2 4 6 8

[T125A] (uM)

log(k,k,A)

log(k,k,A)

log(k,k,A)

12

log(k k_A)

0.3

0.2

0.2

0.1

0.1

30°C

y=m1+m2* MO
00 va] e |AAGR \=2.13 kcal/mol
m1 -0.4667 | 0.040933
-0.1 m2 0.69294 | 0.049068 |
e Chisq | 0.0004264 1 NA
R? 0.99007 NA
-0.1 T T
0.6 0.8 0.9 1 1.1
log[C124D]
0.7 .
06| |
05 ¢ . 1 37 °C
04} . B
e == |[AAGpN=0.25 kcal/mol
03| m1 -0.35399| 0.18085 |
. m2 0.99531| 0.21679
Chisq| 0.0083235 NA
R? 0.91334 NA
0.2 L I I
0.6 0.8 0.9 1 1.1
log[C1248]
0.5
0.0} |
05 L i 30°C

|AAGR \=2.46 kcal/mol

2

33.6°C

|BAG, \=1.17 keal/mol

y=mi+m2* MO
1.0 Value| _ Error
m1 -1.0245| 0.12142
m2 1.3634| 0.18821
Chisq| 0.16038 NA
R? 0.8974 NA
15 . n n n
-0.2 04 06 08 1 1
log[T125S]
0.4 3
0.2 1
0.0 - J
-02 J
-04 J
-06 | J
y=mi+m2* MO
081l Value]  Eror| |
m1 | -0.96033| 0.07925
m2 | 1.3684 0.12043
-1.0 + Chisq | 0.064896 NA
R?| 0.95559 NA
12 . T n n
-0.2 04 06 0.8 1 1
log[T125A]

2



k, (min™)

k, (min™)

k, (min™)

k, (min™)

0.06 . . . . . 0.35 *
.
0.05 L . 1 0.30 - % 4
0.25 - 4
0.04 - [} 4 ¢
o ¢
‘e 0.20 - . ] E
0.03 - R IS
° o 015 ) 7
&
0.02 - ‘ ° R
y = m1"m0/(m2+ MO) 0.10 - b
Value| __ Error
m1 | 0.086664] 0.011551
0.01 - m2 51633 14193 0.05 | 4
Chisq| 8.4705¢5 NA
r2[ 094151 NA
0.00 L L 0.00 I I . . L
0 2 4 6 8 10 12 Y] 2 4 6 8 10 12
[WTCF113A] (uM) [WTCF113A] (uM)
S1L1 (109-113, FRGLF)
0.14 1.00 }
012 $ 1
o 0.80 ® 4
. )
0.10 | LI . i ‘ 2
. oo ‘ LI }
0.08 - B "_C 060 |- * ]
£ 4 o
£
0.06 |- 1 [}
& 040 1 - 1
0.04 L y = m1*m0/(m2+ M0) i .
Value Error
m1 | 0.16009 | 0.00080887 0.20 | 4
0.02 L m2 | 46028| o.047777| |
Chisa| 61546 NA
r?| 096012 NA
0.00 L L T T T 0.00 L L L L
0 2 4 6 8 10 12 0 2 4 6 8 10 12
[V173A] (uM) [V173A] (uM)
0.12 : 0.50 T . . T T
0.10 - % 4 0.40 |
L
0.08 - 4
< 0.30 4
< t P
0.06 - g g . '
° A& 020 - ] R
0.04 + ° y = m1*m0/(m2+M0) 7 *
¢ Value]  Error
m1 0.17032] 0.044758 0.10 - 7
0.02 - m2 8.4254]  4.1611 4
Chisq | 0.00069327 NA
r?| 088214 NA
0.00 . . n n n n 0.00 I I I I I
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12
[WtcG2458] (M) [WtcG2458] (uM)
0.08 0.40 . T . T T
¢
0.07 | 0.35 - 4
$ ¢
L] ®
0.06 0.30 - ® 4
0.05 |- — 0.25 - . 4
<
0.04 + g 020t 4
0.03 |- < o015 1
y = m1*m0/(m2+ M0)
Value Error
0.02 ’/ m1 | 0084639 00028672 ] 010 7
[ m2 1.144] 016557
0.01 1 Chisq| 4.6232e-5 NA B 0.05 |- 4
J‘ r?| 0.95385 NA
0.00! | | | | . 0.00 I I I I I
0 2 4 6 8 10 12 0 2 4 6 8 10 12

[R282A] (uM)

H2

[R282A] (UM)

log(k,k,A)

Iog(k1 k2A)

log(k,k,A)

Iog(k1 sz)

0.5 . T T T T
0.0 -
-0.5 -
1011
-1.5
y=m1+m2* MO
Value| __Error
m1 -2.0079| 0.13969
-2.0 m2 2| 0.21228 q
Chisq| 0.20164 NA
r?| 0.93668 NA
25 I I T
0 0.2 0.4 0.6 0.8 1
log[WTCF113A]
1.0
0.5 - B
0.0 - B
-0.5 - 4
-1.0 - 4
451 y =m1+m2*M0
: Value|  Error
m1 | -1.0857 | 0.022799
20 m2 | 1.9248] 0.03259| |
Chisq| 0.10263 NA
r?| 0.99373 NA
-2.5 L T
-1 -0.5 0 0.5 1 1.5
log[V173A]
0.5
0.0 | 4
-0.5 4
1.0 | B
1.5 y=m1+m2* MO 7
Value| __Error
m1 | -2.1224| 0.07807
-2.0 + m2 | 23667 0.1069)
Chisq | 0.066048 NA
R?| 0.98791 NA
25 L L L I I I
-0.2 0 02 04 06 08 1 1.2
log[wtcG245S]
0.4
0.2 4
0.0 | 4
-0.2 + 4
04+
-0.6 - 4
y = m1+m2* Mo
Value Error
08¢ m1 | 1.0238 0.046117
m2 1.2794| 0.07008
-1.0 - Chisq | 0.021976 NA 1
R?| 0.98231 NA
1.2 L L L L
-0.2 0 02 04 06 08 1 1.2
log[R282A]

30 °C

30°C

1AAGp =2.46 kcal/mol

37 °C

33.6°C

|AAGp.\=1.16 kcal/mol



k, (min™)

k, (min™)

k, (min™)

0.25

0.20

0.15

0.10

0.05

0.00

0.10

0.08

0.06

0.04

0.02

0.00

0.50

0.40

0.30

0.20

0.10

0.00
3

[W146D] (uM)

y = m1*m0/(m2+m0)

Value Error’
m1 0.098324| 0.006901
m2 1.5813| 0.33772

Chisq | 0.00047838 NA
R? 0.93399 NA
4 6 8 10 12
[1162V] (uM)
[ ]
L]
L]
6 7 8 9 10 1

[1162G] (uM)

k, (min™)

S3 (143-147, VQLWV)

k, (min™)

k, (min™)

1.00

0.80

0.60

0.40

0.20

0.00

4 6 8
[W146D] (uM)

0.10 f{P y = -m1*m0/(m3+m0) 4
[ Value Error
1} m1 | -0.26258] 0.018492
m3 | 0.50745| 0.16356
0.05 ‘J Chisq| 0.0097646 NA| T
re| 070265 NA
0.00 . . . .
0 4 6 8 10 12
[1162V] (uM)
3.00 ; . . :
2.50 - % 4
200 b ¢ i
P
1.50 4
1.00 + 4
0.50 - 4
0.00 ! ! ! !
0 4 6 8 10 12

S4 (158-164, VRAMAIYK)

[1162G] (uM)

log(k,k,A)

2

log(k k A)

0.7

33.6 °C

|DAG, =3.89 kcal/mol

1 37 °C

AAG, \=-0.06 kcal/mol

1 30°C

AAGp \=5.64 kcal/mol

0.6 - 4
0.6 - 4
0.5+ 4
05 4
04 L 4
y=m1+m2* MO
0.4 Value] _ Error
m1 | -0.21497| 0.13776
m2 | 0.79802] 0.16514
0.3 Chisq| 0.0048295 NA|
re| 092111 NA
0.3 L L L L
0.6 0.7 0.8 0.9 1 1.1
log[W146D]
0.5
0.0 - 4
0.5 -
1.0 + 4
15
-2.0 1 4
y=m1+m2* MO
Value]  Error
2.5 - m1 | -1.7343| 0068541
m2 | 20142 01212
3.0 | Chisq| 0.39227 NAJ |
r2| 0.96508 NA
-3.5 L I L
-1 -0.5 0 0.5 1
log[1162V]
1.7 . . . :
.
1.6 - 4
(3
15+
141 4
L)
y=m1+m2* MO
Value] _ Error
m1 0.59721] 0.079222
13+ m2 1.0448] 0094967 |
Chisq| 0.0015972 NA
? r?| 098375 NA
1.2 L L I |
0.6 0.7 0.8 0.9 1
log[1162G]



k, (min™")

k, (min™)

0.12

0.10

0.08

0.06

0.04

0.02

0.00

0.07

0.06

0.05

0.04

0.03

0.02

0.01

0.00

[WTCL194AV197AL201DV203A] (uM)

S5 (194-203, LIRVEGNLRV )

(]
L y = m1*m0/(m2+M0) hl
Value Error
m1 0.10119| 0.0073168
A/ m2 0.89884 0.23715| |
Chisq| 0.0015693 NA
}r r2| 080918 NA
‘ ‘ ‘ ‘ ‘
0 2 4 6 8 10 12
[1195V] (uM)
[}
L s i
]
‘ ‘ ‘ ‘ ‘
0 2 4 6 8 10 12

k, (min™)

1.00

0.20

0.00

1.50

1.00

0.50

0.00

[WTCL194AV197AL201DV203A] (uM)

L}
e o
He . 4
¢ [
I I I I I
0 2 4 6 8 10 12
[1195V] (M)
[ y = m1*m0/(m3+m0) 7
Value| _Error
m1 8.2292| 4.3587
m3 46.347 | 28.824
Chisq| 0.0037468]  NA
re| 099003 NA
. . n n n
0 2 4 6 8 10 12

k A

logk

log(k,k,A)

33.6 °C

|AAGp.\=1.67 kcal/mol

30°C

[J
L]
0.0 - E
0.5 |
y=m1+m2* M0
1.0 Value Error’
m1 | -0.86904 | 0.058257
m2 1.5452| 0.10951
Chisq| 0.33052 NA
R| 0.96887 NA
1.5 I I L L L L
04 02 00 02 04 06 08 10 1.2
log[l1195V]
0.8 ; : :
0.6 - E
0.4 L 1
02| 1
y=mi+m2* MO
Value Error
00l m1 -1.6826] 0.028702 i
: m2 2.4807 | 0.034406
Chisq | 0.00020965 NA
RrR? 0.99962 NA
-0.2 I I I I
0.6 0.7 0.8 0.9 1

1.1

log[WTCL194AV197AL201DV203A]



k, (min™)

k, (min™)

k, (min™)

0.05

0.04

0.03

0.02

0.01

0.00

0.14

0.12 -

0.10

0.08

0.06

0.04

0.02

0.00
0

0.10

0.08

0.06

0.04

0.02

0.00

5 6 7 8 é 10
[V216A] (uM)

2 4 6 8 10

[V217A] (uM)

2 4 6 8 10

[V217D] (uM)

S7 (214-218)

k, (min™)

k, (min™")

k_ (min™)

0.30

0.25

0.20

0.15

0.10

0.05

0.00

0.40

0.35

0.30

0.25

0.20

0.15

0.10

0.05

0.00
0

0.60

0.50

0.40

0.30

0.20

0.10

0.00

4 6 8

4 6 8
[V217A] (uM)

4 6 8
[V217D] (uM)

10

12

2

log(k k_A)

Iog(k1 sz)

Iog(k1 k2A)

-0.1
-0.2 4
03+ 4
y=m1+m2* MO
0.4 - Value Error || |
m1 12557 0.017783
m2 1.1173| 0.021318
Chisq|8.0484e5 NA
0.5 r2|  0.99027 NA
-0.6 I I I I
0.6 0.7 0.8 0.9 1 11
log[V216A]
0.6 .
0.5 4
0.4 | 1
0.3 4
0.2 4
y=m1+m2* MO
0.1 Value Error
m1 | -0.92995| 0.16907
0.0 m2 1.4109| 0.20268 | |
. Chisq | 0.007275 NA
R?| 0.96036 NA
-0.1 I I T
0.6 0.7 0.8 0.9 1 1.1
log[V217A]
0.6 - : T T
L]
05| 4
L]
04} i
(]
0.3 4
y=m1+m2*M0
Value Error
mi1 | -0.35371] 0.056695
02g m2 | 089481] 0067963] ]
Chisq | 0.00081803 NA
r?| 098859 NA
0.1 I I I I
0.6 0.7 0.8 0.9 1 1.1
log[V217D]

30°C

IAAGp \=1.63 kcal/mol

37 °C

AAGp \=-0.01 kcal/mol

30°C

AAGp \=2.10 kcal/mol



k, (min™)

k, (min™)

0.07

0.06

0.05

0.04

0.03

0.02

0.01

0.00

0.08

0.07

0.06

0.05

0.04

0.03

0.02

0.01

0.00
0

4 6 8
[T231DH233D] (uM)

10

4 6 8
[1232V] (uM)

S8 (230-238)

k, (min™")

k, (min™")

0.60 T T T T
0.50 -
0.40 -
0.30 |-
0.20 |- y = m1*m0/(m3+m0)
Value Error
m1 | 0.62165] 0.018706
0.10 m3 2.3682| 0.26963| -
Chisq| 8.8586¢-5 NA
r?| o.98768 NA
0.00 . ‘ ! . ‘
0 2 4 6 8 10 12
[T231DH233D] (uM)
0.35 , : ‘ ‘ +
0.30 - 7
L]
0.25 - )
b4 .
0.20 - )
0.15 | )
y = m1"m0/(m2+M0)
0.10 - Value[ Error | 7
m1 | 0.50885] 0.1762
m2 5.7053 | 4.4383
0.05 - Chisq| 0.0021541] NA| |
RrR? 0.74505 NA
0.00 ‘ ‘ ‘ : ‘
0 2 4 6 8 10 12
[1232V] (uM)

Iog(k1 sz)

Iog(k1 sz)

0.4

03 | 4
0.2+ 4
30°C
0.1 | 4
y=m1+m2* MO
o T =l | AAGp 6 =2.98kcal/mol
m2 1.1604 | 0.047273
Chisq | 0.00039578 NA
R? 0.99669 NA
-0.1 1 1 | |
0.6 0.7 0.8 0.9 1 1.1
log[T231DH233D]]
0.4 .
0.2 4
00t 1 37°C
-0.2 4
i AAGp =-0.34 kcal/mol
Value Error
-0.4 m1 | -2.0427| 0.14814| |
m2 2.4223| 0.17758
Chisq | 0.005585 NA
R| 0.99467 NA
-0.6 1 I | |
0.6 0.7 0.8 0.9 1 1.1
log[1232V]



k. (min™")

k. (min™)

k, (min™)

k, (min™)

0.14
0.12 -
0.10 -
0.08 -
0.06 |
y = m1*m0/(m2+Mo0)
004/ Value Error | |
m1 | 0.14036] 0.0063762
m2 1.4391 0.1974
0.02 Chisq| 0.00070952 [N
i r2| o0.95526 NA
0.00 . n n n
0 4 6 8 10 12
[1254V] (uM)
0.20 T T T
0.15 - 4
.
L]
0.10 - 4
0.05 - 4
0.00 I I I
2 6 8 10 12
[1254G] (uM)
0.03 T
.
L]
L]
0.02 - 4
L)
0.02 - 4
0.01 | 4
0.01 1 4
0.00 . . . .
0 4 6 8 10 12
[WTCI254R] (M)
0.07

0.02 L/ y = m1*m0/(m3+mo0) ]
/ Value Error
° m1 | 0.064369] 0.0044945
0.01 l m3 | o0e6264] o0.20185] |
“ Chisq | 0.00040171 NA
| R 0.7736 NA
0.00 L
0 4 6 8 10

[WTCI254D] (uM)

12

k, (min™)

k, (min™)

k, (min™)

k, (min™)

0.60
0.50 + 4
0.40 -
0.30 -
0.20 - y = m1*m0/(m3+m0)
Value Error
m1 | 0.44796] 0.030127
0.10 m3 | 0.81769| 0.20877 4
| Chisq | 0.020084 NA
I R?| 0.80694 NA
0.00 L I N N
0 4 6 8 10 12
[1254V] (uM)
0.80 T T T T
0.70 - 4
0.60 - i . 4
)
0.50 + 3 4
0.40 + 4
0.30 - 4
0.20 - 4
0.10 - 4
0.00 L I I |
0 4 6 8 10 12
[1254G] (uM)
0.50
0.40 - 4
0.30 - 4
0.20 + 4
y = m1*m0/(m3+m0)
Value Error
0.10 L mi | 099083| 0.27828| |
m3 10.639 5.0907
Chisq| 0.0013714. NA
R? 0.94246 NA
0.00 ! I I I
0 4 6 8 10 12
[WTCI254R] (uM)
0.50
0.40 - i
030 | ¢ i
®
0.20 + 4
y = m1*m0/(m3+m0)
Value Error
0.10 L m1 | 058502 0.092067| |
m3 55718| 1.7072
Chisq | 0.0084273 NA
r?[ 093407 NA
0.00 L n n n
0 4 6 8 10 12

[WTCI254D] (uM)

log(k, k,A)

log(k, k,A)

log(k, k,A)

log(k, k,A)

05| J
0.0 | J
05[ J
1.0 | T 37 OC
151 4
y=m1+m2* MO
R L Value| __ Emor| |
20 s smtowa| 1AAGp=0.90 kcal/mol
m2 2.0983| 0.12094
25 - Chisq| 0.58933 NAl 4
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